SEFM:ERYIE [MT-210]

Setting conditions

Display

Description

Total KWH display

A 4

BURYE KWH

Press key + 1sec

Average Vu/A display P
BRI VWA (B h Bzooe [y T
Press [W]key ¢ Press fisi| key
Average Vn/A display
FUR VA B oo o ao®
Press |2| key + Press key —»t o
V1/A1 display
Br VIAT b G

Press |i| key * Press key —»

V1n/A1 display

FEUR VIn/A1

Press |2| key * Press key —P|

V2/A2 display

S V2IA2

Press |i| key + Press key — |

V2n/A2 display

FEUT V2n/A2

Press [W]key  Press fispjkey — ]

V3/A3 display

F V3IA3

Press |2| key ¢ Press key —p

V3n/A3 display

HET V3n/A3

Press |i| key * Press key —>

Hz display

$Ur Hz

Press |i| key l Press key —»}

P Fdisplay

B PF

Press |i| key I Press keyl

Total kWh display

HEUREE kWh

Press |i| key ¢ Press key ———Pp

kWh 1 display

FEUR KWh 1

Press |i| key ¢ Press key —¥

kWh 2 display

FEUR kKWh 2

Press |i| key + Press key —

kWh 3 display

FEUR kKWh 3

Press |i| key* Press key —>

Total kW display

BUREE kW

Press |i| key ¢ Press key ——»

kW 1 display

F kW1

Press |i| key * Press key —>

kW 2 display

FET kKW 2

Press [W] key ¢ Press |fIsp| key — 1

kW 3 display

T kW3

Press |i| key * Press key —»

CO2 display

HUThRPE R

Press |2| key

Press key —
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(FTvig=vi2 /Tv21=v13 / Tv3] = v32)

1> Average Line voltage (L-L) & Line current display

2> 'n , is disappeared

3>Voltage "dp; =1 ; Current "dp; =0~ 3 (auto shift)

1> Average Phase voltage (L-N) & Line current display

2> 'n | is appeared

3>Voltage "dp; =1 ; Current "dp, =0~ 3 (auto shift)

1> L1 Line voltage (V12): V1at "3P3L, ["n is disappeared]

2> L1 Line current (A1) : Afat "3P3L |

3>Voltage "dp; =1 ; Current "dp, =0~ 3 (auto shift)

1> L1 Phase voltage (V1n) : Vinat "3P4L ; ["n , is appeared ]

2> L1 Line current (A1) : Afat "3P4L |

3>Voltage "dp; =1 ; Current "dp;, =0~ 3 (auto shift)

1> L2 Line voltage (V23): V2at "3P3L, ["n is disappeared]

2> 2 Line current (A2) : A2at "3P3L |

3>Voltage "dp; =1 Current "dp, =0~ 3 (auto shift)

1> L2 Phase voltage (V2n) : V2nat "3P4L ; ["n , is appeared ]

2> 2 Line current (A2) : A2at " 3P4L |

3>Voltage "dp, =1 Current "dp, =0~ 3 (auto shift)

1> L3 Line voltage (V31) : V3at "3P3L, ["n is disappeared]

2> L3 Line current (A3) : A3at "3P3L |

3>Voltage "dp, =1 ; Current "dp;, =0~ 3 (auto shift)

1> L3 Phase voltage (V3n) : V3nat "3P4L ; ["n, is appeared ]

3> L3 Line current (A3) : A3nat " 3P4L |

3>Voltage "dp; =1 ; Current "dp; =0~ 3 (auto shift)

1> Power frequency
2> Decimal point = 1

1> Power factor
2> Decimal point = 2

1> Integrate effective energy ( Total KWh )
2> Display range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=3; Tut=0.1k, :

1> L1 Integrate effective energy (kWh1)
2> Range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=3; Tut=0.1k, :

1> L2 Integrate effective energy (kWh2)
2> Display range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=3; Tut=0.1k :

1> L3 Integrate effective energy (kWh3)
2> Display range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=3; Tut=0.1k, :

1> Effective power ( Total kW)
2> Display range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=4; Tut=0.1k,:

1> L1 Effective power (kW1)
2> Display range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=4; Tut=0.1k,:

1> L2 Effective power (kW2)
2> Display range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=4; Tut=0.1k,:

1> L3 Effective power (kW3)
2> Display range : -19999999 ~ 99999999

3> Tut=1.0,: Decimal point=4; Tut=0.1k,:

1> CO: Integrate volume (Kg)
2> Display range : 0 ~ 99999999
3> Decimal point = 0

Decimal point = 1

Decimal point =1

Decimal point = 1

Decimal point =1

Decimal point = 3

Decimal point = 3

Decimal point = 3

Decimal point = 3
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BEFMSHUERE [MT-210]

Press ENTlkey

Input mode selecting

B K EE

Press ENT] key ¢

kWh unit selection

kWh #w $ 48 4%

Press ENT] key ¢

CT ratio setting

CT tfg &2

Press [ENT] key ¢

PT ratio setting

PT Lol 3% €

Press ENT] key *

CO: coefficient setting

B e EAARBER T

Press ENT] key *

Alarm mode selecting

BB

Press key *

——

- —

——

[ALt G|

Setting conditions Display Description
Running state
I BTCo[ Z7@
Press [ENT| +]a | ¢ key 3 sec
Lock setting LeK 1o 1> FLek.10 ¢ All settable
CEET o

1> M1P2L ; : Sigle phase 2 wires (1CT)
3> MP3L , : Sigle phase 3 wires (2CT )
5> '3P3C  : 3 phase 3 wires (3CT)

2> "1P3C  : Sigle phase 2 wires (3CT)
4> T3P3L , : 3 phase 3 wires (2CT)
6> M3P4L | : 3 phase 4 wires (3CT)

1> Tut= 0.1k : unit=0.1kWh & 0.001kW - Input wattage = 1800kW
2> Tut=1.0 : unit=0.001kWh & 0.0001kW > Input wattage =< 18kW

1>Input "5A | : Range : 1~999.9 (dp=1); Ex : Ct_rA=20.0 — CTratio=100: 5
2> Input "mA ; : Range : 1~9999 (dp=0) : Ex : Ct_rA=3000 — CT ratio=3000 : 1

1>Range : 0.01~99.99 (dp=2)
Ex : Pt_rA=1.00 — Voltageratio=1: 1

1>Range : 0~1.000 (dp=3)
2> Unit : Kg CO2e/KWH

1> Range : 0~3
2> TALt=0 : Withoutalarm ; "ALt=1 : Highalarm ; "ALt=2 : Low alarm
TALt=3 | : High & Low alarm

WH reset protection rst [ 1> TRST=0 , : Un-resettable
T 2C 62 o Jo S o1 o TRST=1 : Resettable (WH & CO2)
TG TR ® @ [» RST=
Press ke - - - 3> TWH  reset : Press the & D & Iﬂ key 3 seconds
v (R BETa ][t 3 #)
ao - & =
BRIEFM-EWHRERE [MT-210]
Setting conditions Display Description
R KWH display
#~ KWH B[z 0 a0 .0 ©
Press [ENT] key ¢ 3'sec
: AL.PF 00O 1>Range : 0.00~1.00
Power factor alarm setting ' '
I 2> Alarm address ( 0212H/bit.8 ) : Alarm ON — 0212H/bit.8=1
h % B F BB P o=
Press| ENT key ¢
1>Range : 0.0~99.9

Power frequency alarm setting

EIRIAF XL

Press|ENT] key *

Voltage alarm setting

TR EHREE

Press key L

Current alarm setting

TR ERIRE

Press key ¢

Alarm hysteresis setting

AR A RE

Press key ¢

KW alarm setting

KW 3335 T

Press key ¢

KQ alarm setting

KQ #3gx T

Press ENT] key |

®

BB8BEEEE
©

8838&888'
L

2> Alarm address ( 0212H/bit.7) : Alarm ON — 0212H/bit.7 =1
3> dp=1

1>Range : 0.0~999.9V
2> Alarm address ( 0212H/bit.1~3) : Alarm ON — 0212H/bit.1~3 =1
3> dp=1

1>Range : 0.0~999.9A
2> Alarm address ( 0212H/bit.4~6 ) : Alarm ON — 0212H/bit.4~6 =1
3> dp=1

1>Range : 0.0~100.0% of AL_x
2> TALt=1,: PV=AL x* (1+HYS%) —Alarm ON

FALt=2 : PV=AL x* (1-HYS%) —Alarm ON

FALt=3,: PV=AL x* (1+HYS%) or PV=AL x* (1-HYS%) —Alarm ON
3> dp=1

1> Range © -19999.999 ~ 99999.999
2> Alarm address (0212H/bit9) : Alarm ON — 0212H/bit9 =1
3>dp=3

1> Range : -19999.999 ~ 99999.999
2> Alarm address ( 0212H/bit.10) : Alarm ON — 0212H/bit.10 =1
3>dp=3
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BREFMBERSHERE [MT-210]

Function Display Range Description

Control status IQ oooo0ooo
PERIRAE =

Press & E keyg 3 sec

Controller NO. 1d .
PEHIZR ARt

Press key l

Communication protocol rS._ 0~1 1> T'rs=0 , : Modbus-RTU
EE 2> T'rs=1 ; : Modbus-ASCII

Press [ENT| ke l
y 96/19p |17 TbPS=96,:9600bps 2> "bPS =192 : 19200 bps
Communication speed I bPS. 192 3841150 |3 TbPS=384.738400bps 4> TbPS =152, : 115200 bps
AR SR

Press key i 8n1/ 8E1 . . . .
' d i n 1> T8n1 : 8 bitnon parity 2> 801 : 8 bit odd parity
Data configuration | bit. ni 801/8n2 3> "8E1, : 8biteven parity 4> "8n2  : 8 bit non parity

0~255 1>Range : 0~255

ca

Bk s 701/7E1  |5> "=701: 7bitodd parity 6> "7E1 : 7 bit even parity
Press [ENT key |
BEFMEMERUE

Address Description Bytes | R/W ||Address Description Bytes | RIW
0000H | "Wn | : L1Phase voltage (dp=1) 4 R || 0246H | "kQh : Lag integrated reactive energy of delay (dp=3) 4 R
0002H | "W2n | : L2 Phase voltage (dp=1) a R || 0248H | "kQh  : Totalintegrated reactive energy (dp=3) '} R
0004H | "W3n | : L3 Phase voltage (dp=1) 4 R | 024AH | " KWh1 | : L1 Integrate effective energy (dp=3) 4 |RW
0006H | "A1, : L1 Line current (dp=3) a R || 024CH | "KWh2 | : L2 Integrate effective energy (dp=3) 4 |RW
0008H | "A2  : L2 Line current (dp=3) 4 R || 024EH | " KWh3 | : L3 Integrate effective energy (dp=3) 4 |RW
000AH | "RA3 | : L3 Line current (dp=3) 4 R || 0260H | "KW  : Total integrate effective energy (dp=1) 4 R
000CH | "PF : Power factor (dp=2) 4 R || 0262H | " KWhr | : Integrate regenerative energy (dp=1) 4 R
000EH | "Hz : Frequency (dp=1) q R || 0264H | "kQh  : Lead integrated reactive energy (dp=1) 4 R
0010H | "W , : Effective power (Total W) (dp=1) a R || 0266H | "kQh | : Lag integrated reactive energy (dp=1) '} R
0012H | "@ : Reactive power (Total Q) (dp=1) 4 R || 0268H | " kQh  : Totalintegrated reactive energy (dp=1) 4 R
0014H | "WH2 , : L1Line voltage (dp=1) a R || 026AH | "KW | : L1 Integrate effective energy (dp=1) 4 |RW
0016H | "W13  : L2Line voltage (dp=1) 4 R || 026CH | " KWh2 | : L2 Integrate effective energy (dp=1) 4 |RW
0018H | "W23 | : L3Line voltage (dp=1) a R || 026EH | "KWHh3 | : L3 Integrate effective energy (dp=1) 4 |RW
00 1AH | "KWA1 | : L1 Effective power (dp=4) 4 R || 2000H | "Imt; : Input mode selecting 2 |RW
00 1CH | "KW2 | : L2 Effective power (dp=4) [/} R [[2001H | "ut=0 ,: unit=0.1kWh ; "ut=1 : unit=0.001kWh (1Wh) 2 |RW
00 1EH | "KWS3 | : L3 Effective power (dp=4) 4 R || 2002H | "Lek  : Lock setting 2 |RW
0020H | k@1, : L1 Reactive power (dp=4) 4 R || 2003H | "€CO,e ; : CO: coefficient setting (dp=3) 2 |RW
0022H | "kQ2 | : L2 Reactive power (dp=4) 4 R || 2004H | "W, Voltage alarm setting (dp=1) [Alarm address : " 0212H-bit.1 ;] 2 |RW
0024H | "KQ3 | : L3 Reactive power (dp=4) [/} R || 2005H | V2, Voltage alarm setting (dp=1) [Alarm address : " 0212H-bit.2 ;] 2 |RW
0026H | "W : Average phase voltage (dp=1) a R || 2006H | "W3 , Voltage alarm setting (dp=1) [Alarm address : " 0212H-bit.3 ;] 2 |RW
0028H | "R : Average current (dp=3) [/} R || 2007H | " A1, Currentalarm setting (dp=1) [Alarm address : " 0212H-bit.4 |] 2 |RW
00 2AH | "W : Average line voltage (dp=1) a R || 2008H | "A2 ; Currentalarm setting (dp=1) [Alarm address : " 0212H-bit.5 |] 2 |RW
0030H | "AT,: L1 Line current (dp=1) [/} R || 2009H | "RA3 ; Current alarm setting (dp=1) [Alarm address : " 0212H-bit.6 ;] 2 |RW
0032H | "A2 ,: L2 Line current (dp=1) a R || 200AH | "Hz , Current alarm setting (dp=1) [Alarm address : " 0212H-bit.7 ;] 2 |RW
0034H | "A3 | : L3 Line current (dp=1) 4 R || 200BH | "PF; Alarm setting (dp=2) [Alarm address : I 0212H-bit.8 ] 2 |RW
0036H | "A : Average current (dp=1) 4 R || 200CH | "KW , (dp=3) Alarm setting [ Alarm address : " 0212H-bit.9 ;] 4 |RW
0038H | "WAT , : L1 Average apparent power (dp=1) 4 R || 200EH | "KQ, (dp=3) Alarm setting [ Alarm address : " 0212H-bit.10 ;] 4 |RW
003AH | "WA2 | : L2 Average apparent power (dp=1) [/} R || 20 10H | "HYS ; (dp=1) Alarm hysteresis setting 2 |RW
003CH | "WA3 | : L3 Average apparent power (dp=1) 4 R |[ 20 11H | "AIT ;: (0=ALT.0 » 1=ALT.1 » 2=ALT.2 » 3=ALT.3) 2 |RW
003EH | "WA , : Total apparent power (dp=1) [/} R || 2012H | "rSt,: "WH , reset protection setting ( Resettable : bit.0=0) 2 |RW
0040H | "KW | : L1 Effective power (dp=3) 4 R || 2013H | "RESET,:"WH reset (Reset : bit.0=1) 2 |RW
0042H | "KW2 | : L2 Effective power (dp=3) a R || 2014H | "GT : CT secondary current [70 , =1A; 71, =5A] 4 |RW
0044H | "KWS3 | : L3 Effective power (dp=3) a R || 2016H | "CT, : CT primary current [ Range=1~9999] 4 |RW
0046H | "KW | : Total effective power (dp=3) 4 R || 2018H | "Pt, : PTratio setting (dp=2) [ratiox100 (100 to 9999)] 4 |RW
02 10H | "602 , : CO: Integrate volume (dp=0) 4 R 29 0CH " Pulseunit ; : 0=1WH ; 1=10WH ; 2=100WH ; 3=1KWH 1 | rw
02 12H | " Alarm status address ; : [bit.0=1] — ON 2 R [T 4=5KWH ; 5=10KWH ; 6=50KWH ; 7=100KWH ;

02 40H | "KWh | : Integrate effective energy (dp=3) a R |[220EH | "WT ; VT ratiox100 (100 to 99999 ) 4 |RW
0242H | "KWhr | : Integrate regenerative energy (dp=3) [ 4 R || 2210H | "602f , : Conversion factor (factorx100 ; 0~9999 ) 4 |RW
0244H | "kQh | : Lead integrated reactive energy (dp=3)( 4 R || EEFFH | "RESET ;: "WH , & "CO2 , reset (Reset : bit.0=1) 2 |RW

% TWH, reset : Press the &B&E key 3 seconds ( 5] BF 4% &E&E@% 3#)
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